

Florida Department of Transportation

04/15/2021

			Vendor Ranking	Page 1 of 1
Letting:	01210415	April 15, 2021 11:00 AM	Call Order: 001	Contract: E1U41
District:	District 1		Counties: POLK	Fed Aid No: N/A
Contract Time:	365 AVAILA	ABLE DAYS		Project(s): 44787625201 (*)
Contract Desc:	Sneed Fee	hack Sign Installation-East P	olk County	

Contract Desc: Speed Feedback Sign Installation-East Polk County

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	AKCA, LLC	Responsive	Winning bid	\$183,400.00	100.00%
2	TURTLE INFRASTRUCTURE PARTNERS, LLC	Responsive	Non-Winning Bid	\$190,260.67	103.74%
3	TRAFFIC CONTROL DEVICES, INC.	Responsive	Non-Winning Bid	\$217,831.00	118.77%
4	J. RANCK ELECTRIC, INC.	Responsive	Non-Winning Bid	\$278,100.00	151.64%
5	ACME BARRICADES LC	Responsive	Non-Winning Bid	\$302,400.00	164.89%
6	HORSEPOWER ELECTRIC, INC.	Responsive	Non-Winning Bid	\$553,553.00	301.83%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



04/15/2021

Tabulation of Bids

Page 1 of 3

Letting:	01210415 April 15, 2021	Call Order: 001	Contract: E1U41
District:	District 1	Counties: POLK	Fed Aid No: N/A
Contract Time:	365 AVAILABLE DAYS		Project(s): 44787625201 (*)

Contract Descr: Speed Feedback Sign Installation-East Polk County

The work under this contract consists of Speed Feedback Sign Installation.

Line No / Item ID Alternate	Quantity Units	(1) AKC/	A, LLC	(2) TUF INFRASTR	UCTURE	· · /	C CONTROL ES, INC.
() indicates item is bid as Lump Sum	•	Unit Price	Ext Amount	PARTNER Unit Price	RS, LLC Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (SIG	NS(GRND	SIGNS 30 SQ FT (OR LESS)(UN				
0005 0700 1 60	29.000	100.00000	2,900.00	145.60000	4,222.40	66.00000	1,914.00
SINGLE POST SIGN, REMOVE	AS						
0010 0700 3101	5.000	100.00000	500.00	680.68000	3,403.40	353.00000	1,765.00
SIGN PANEL, FURNISH & INSTALL GROUND MOUNT, UP TO 12 SF	EA						
0015 0700 11231	52.000	3,000.00000	156,000.00	3,216.86000	167,276.72	3,688.00000	191,776.00
ELECTRONIC DISPLAY SIGN, FURNISH & INSTALL GROUND MOUNT- SOLAR POWER, SPEED FEEDBACK, UP TO 12 SF	AS						
0020 0700 11431	7.000	2,000.00000	14,000.00	765.45000	5,358.15	1,768.00000	12,376.00
ELECTRONIC DISPLAY SIGN, INSTALL- SPEED FEEDBACK SIGN, UP TO 12 SF	AS						
0025 0999 25	(1.000)	10,000.00000	10,000.00	10,000.00000	10,000.00	10,000.00000	10,000.00
INITIAL CONTINGENCY AMOUNT, DO NOT BID	LS						
0001 SIGNS(GRND SIGNS 30 Sectio SQ FT OR LESS)(UN)	n Totals:		\$183,400.00		\$190,260.67		\$217,831.00



Tabulation of Bids

Page 2 of 3

Letting: 01210415 Ap	oril 15, 2021	Cal	I Order: 001		Contract:	E1U41	
Line No / Item ID Alternate Item Description	Quantity Units	(4) J. RANCK E	LECTRIC, INC.	(5) ACME BAR	RICADES LC	• •	VER ELECTRIC, IC.
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (\$	SIGNS(GRND	SIGNS 30 SQ FT (OR LESS)(UN				
0005 0700 1 60 SINGLE POST SIGN, REMOVE	29.000 AS	500.00000	14,500.00	100.00000	2,900.00	50.00000	1,450.00
0010 0700 3101 SIGN PANEL, FURNISH & INSTALL GROUND MOUNT, UP TO 12 SF	5.000 EA	500.00000	2,500.00	300.00000	1,500.00	400.60000	2,003.00
0015 0700 11231 ELECTRONIC DISPLAY SIGN, FURNIS & INSTALL GROUND MOUNT- SOLAR POWER, SPEED FEEDBACK, UP TO 1 SF		4,425.00000	230,100.00	5,000.00000	260,000.00	10,050.00000	522,600.00
0020 0700 11431 ELECTRONIC DISPLAY SIGN, INSTAL SPEED FEEDBACK SIGN, UP TO 12 S	-	3,000.00000	21,000.00	4,000.00000	28,000.00	2,500.00000	17,500.00
0025 0999 25 INITIAL CONTINGENCY AMOUNT, DC NOT BID	(1.000) LS	10,000.00000	10,000.00	10,000.00000	10,000.00	10,000.00000	10,000.00
0001 SIGNS(GRND SIGNS 30 Sec SQ FT OR LESS)(UN)	tion Totals:	I	\$278,100.00		\$302,400.00		\$553,553.00
		1					

Contract Grand Totals:

\$278,100.00

\$302,400.00

553,553.00

FDOT
Y

Page 3 of 3

Letting:	01210415	April 15, 2021	Call Order:	001	Contract:	E1U41
			re to file a protest wit		escribed in section bond or other security	

required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.